



# Degenerate Pochhammer symbol, degenerate Sumudu transform, and degenerate hypergeometric function with applications

Oğuz Yağcı\* , Recep Şahin 

*Department of Mathematics, Faculty of Arts and Sciences, Kırıkkale University, Kırıkkale 71450, Turkey*

## Abstract

In the paper, we first define a degenerate Pochhammer symbol by using the degenerate gamma function and investigate its properties. By using the degenerate Pochhammer symbol, we introduce and investigate a degenerate hypergeometric function. We also define a degenerate Sumudu transform and investigate its properties by using degenerate exponential function. Finally, we give certain the integral representations, derivative formulas, integral transforms, fractional calculus applications, and generating functions of the degenerate hypergeometric function.

**Mathematics Subject Classification (2020).** 11S80, 33C05, 33C15, 33C20, 33C90, 26A33

**Keywords.** degenerate Pochhammer symbol, degenerate Sumudu transform, degenerate hypergeometric function, gamma function, degenerate gamma function, beta function, generalized hypergeometric function, Laplace transform, degenerate Laplace transform, Stieltjes transform, Laguerre transform, generating function, fractional calculus operator

## 1. Introduction

Throughout this paper, we use the notations

$$\mathbb{N}_0 = \{0, 1, 2, \dots\} \quad \text{and} \quad \mathbb{N} = \{1, 2, 3, \dots\}.$$

The classical gamma function can be defined [1, 15, 19] by

$$\Gamma(z) = \int_0^\infty t^{z-1} \exp(-t) dt, \quad \Re(z) > 0.$$

For  $\alpha \in \mathbb{C}$ , the Pochhammer symbol  $(\alpha)_n$  is defined by

$$(\alpha)_n = \begin{cases} \prod_{k=0}^{n-1} (\alpha + k) = \frac{\Gamma(\alpha + n)}{\Gamma(\alpha)} & n \geq 1; \\ 1, & n \leq 0. \end{cases}$$

The Pochhammer symbol  $(\alpha)_n$  is also known as the rising factorial, see [10–14] and closely related references therein.

\*Corresponding Author.

Email addresses: oguzyagci26@gmail.com (O. Yağcı), repectsahin@kku.edu.tr (R. Şahin)

Received: 18.05.2020; Accepted: 11.05.2021

For  $\lambda \in (0, \infty)$  and  $t \in \mathbb{R}$ , the degenerate exponential function  $e_\lambda^\xi$  was defined [8] as

$$e_\lambda^\xi = (1 + \lambda\xi)^{1/\lambda}. \tag{1.1}$$

Using the degenerate exponential function  $e_\lambda^\xi$  defined in (1.1), Kim and Kim defined in [8] the degenerate gamma function  $\Gamma_\lambda(z)$  as

$$\Gamma_\lambda(z) = \int_0^\infty (1 + \lambda\xi)^{-1/\lambda} \xi^{z-1} d\xi, \quad 0 < \Re(z) < \frac{1}{\lambda}. \tag{1.2}$$

In 1993, Watugala defined [24] the Sumudu transform by

$$S[f(\zeta)](u) = \frac{1}{u} \int_0^\infty \exp(-u\zeta) f(\zeta) d\zeta$$

or, equivalently,

$$G(u) = S[f(\zeta)] = \int_0^\infty \exp(-\zeta) f(u\zeta) d\zeta,$$

provided that the integrals involved are convergent. For more details, please refer to [25,26] and closely related references therein.

The main aim of this paper is to define a degenerate Pochhammer symbol by using the degenerate gamma function defined in (1.2). A great number of extensions of the Pochhammer symbol are available in the literature [16,18,20,22,23]. The paper is organized as follows: In Sec. 2, we introduce a degenerate hypergeometric function. In Sec. 3, a degenerate hypergeometric function and its properties are given. In Sec. 4, a degenerate Sumudu transform is presented. In Sec. (5), we give the integral transforms of the degenerate hypergeometric function. In Sections 6 and 7, we derive certain fractional calculus operators for the degenerate hypergeometric function. Section 8 is devoted to the families of generating relations for the degenerate hypergeometric function.

## 2. Degenerate Pochhammer symbol

For  $\lambda \in (0, \infty)$  and  $\alpha, n \in \mathbb{C}$ , we define degenerate Pochhammer symbol  $(\alpha)_n^\lambda$  by

$$(\alpha)_n^\lambda = \frac{\Gamma_\lambda(\alpha + n)}{\Gamma(\alpha)}. \tag{2.1}$$

The degenerate Pochhammer symbol  $(\alpha)_n^\lambda$  has the integral representation

$$(\alpha)_n^\lambda = \frac{1}{\Gamma(\alpha)} \int_0^\infty \xi^{\alpha+n-1} (1 + \lambda\xi)^{-1/\lambda} d\xi, \quad \Re(\alpha + n) > 0. \tag{2.2}$$

**Theorem 2.1.** For  $\lambda \in (0, \infty)$  and  $\alpha, \delta, \rho \in \mathbb{C}$ , we have

$$(\alpha)_{\delta+\rho}^\lambda = (\alpha)_\delta (\alpha + \delta)_\rho^\lambda. \tag{2.3}$$

**Proof.** This follows from

$$(\alpha)_{\delta+\rho}^\lambda = \frac{\Gamma_\lambda(\alpha + \delta + \rho)}{\Gamma(\alpha)} = \frac{\Gamma_\lambda(\alpha + \delta + \rho)}{\Gamma(\alpha)} \frac{\Gamma(\alpha + \delta)}{\Gamma(\alpha + \delta)} = (\alpha)_\delta (\alpha + \delta)_\rho^\lambda.$$

The proof of Theorem 2.1 is complete. □

Making use of the relation (2.3) and properties of the Pochhammer symbol  $(\alpha)_n$ , we can derive the following features of the degenerate Pochhammer symbol  $(\alpha)_n^\lambda$ .

**Corollary 2.2.** For  $\lambda \in (0, \infty)$ ,  $\alpha, \delta, \rho, \mu, \nu \in \mathbb{N}_0$ , and  $k \in \mathbb{N}$ , we have

$$\begin{aligned} (\alpha)_{2\delta+\rho}^\lambda &= 2^{2\delta} \left(\frac{\alpha}{2}\right)_\delta \left(\frac{\alpha+1}{2}\right)_\delta (\alpha+2\delta)_\rho^\lambda, \\ (\alpha)_{k\delta+\rho}^\lambda &= k^{k\delta} \left(\frac{\alpha}{k}\right)_\delta \left(\frac{\alpha+1}{k}\right)_\delta \cdots \left(\frac{\alpha+k-1}{k}\right)_\delta (\alpha+k\delta)_\rho^\lambda, \\ (\alpha+\mu)_{\nu+\rho}^\lambda &= \frac{(\alpha)_\nu (\alpha+\nu)_\mu}{(\alpha)_\mu} (\alpha+\mu+\nu)_\rho^\lambda, \\ (\alpha+\delta\mu)_{\delta\nu+\rho}^\lambda &= \frac{(\alpha)_{\delta\mu+\delta\nu}}{(\alpha)_{\delta\mu}} (\alpha+\delta\mu+\delta\nu)_\rho^\lambda, \\ (\alpha-\nu)_{\nu+\rho}^\lambda &= (-1)^\nu (1-\alpha)_\nu (\alpha)_\rho^\lambda, \\ (\alpha-\mu)_{\nu+\rho}^\lambda &= \frac{(1-\alpha)_\mu (\alpha)_\nu}{(1-\alpha-\nu)_\mu} (\alpha+\nu-\mu)_\rho^\lambda, \\ (\alpha-\delta\mu)_{\delta\nu+\rho}^\lambda &= (-1)^{\delta\mu} (\alpha)_{\delta\nu-\delta\mu} (1-\alpha)_{\delta\mu} (\alpha+\delta\nu-\delta\mu)_\rho^\lambda, \\ (-\alpha)_{\nu+\rho}^\lambda &= (-1)^\nu (\alpha-\nu+1)_\nu (1-\alpha)_{\delta\mu} (-\alpha+\nu)_\rho^\lambda, \\ (\alpha)_{\nu+\mu+\rho}^\lambda &= (\alpha)_\nu (\alpha+\nu)_\mu (\alpha+\nu+\mu)_\rho^\lambda, \\ (\alpha)_{\nu-\mu+\rho}^\lambda &= \frac{(-1)^\mu (\alpha)_\nu}{(1-\alpha-\nu)_\mu} (\alpha+\nu-\mu)_\rho^\lambda, \\ (\alpha+\mu)_{\nu-\mu+\rho}^\lambda &= \frac{(\alpha)_\nu}{(\alpha)_\mu} (\alpha+\nu)_\rho^\lambda, \\ (\alpha-\mu)_{\nu-\mu+\rho}^\lambda &= \frac{(-1)^\mu (\alpha)_\nu (1-\alpha)_\mu}{(1-\alpha-\nu)_{2\mu}} (\alpha+\nu-2\mu)_\rho^\lambda, \\ (\alpha+\nu)_{\nu+\rho}^\lambda &= (\alpha+\nu)_\nu (\alpha+2\nu)_\rho^\lambda = \frac{(\alpha)_{2\nu}}{(\alpha)_\nu} (\alpha+2\nu)_\rho^\lambda. \end{aligned}$$

### 3. Degenerate hypergeometric function

For  $\lambda \in (0, \infty)$ ,  $\alpha_\tau \in \mathbb{C}$  for  $\tau = 1, 2, \dots, p$ , and  $\beta_\kappa \in \mathbb{C} \setminus \mathbb{Z}_0$  for  $\kappa = 1, 2, \dots, q$ , we define

$${}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] = \sum_{n=0}^{\infty} \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n z^n}{(\beta_1)_n \cdots (\beta_q)_n n!} \quad (3.1)$$

on the condition that the series on the right hand side converges.

When taking  $p, q = 1$  or taking  $p = 2$  and  $q = 1$  in (3.1), we have

$$\begin{aligned} {}_1F_1^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda; \\ \beta_1; \end{matrix} z \right] &= \sum_{n=0}^{\infty} \frac{(\alpha_1)_n^\lambda z^n}{(\beta_1)_n n!}, \\ {}_2F_1^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2; \\ \beta_1; \end{matrix} z \right] &= \sum_{n=0}^{\infty} \frac{(\alpha_1)_n^\lambda (\alpha_2)_n z^n}{(\beta_1)_n n!}, \end{aligned}$$

which are respectively called a degenerate Kummer (confluent) hypergeometric function and a degenerate Gauss hypergeometric function.

**Theorem 3.1.** The degenerate hypergeometric function  ${}_pF_q^\lambda$  has the integral representation

$$\begin{aligned} &{}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] \\ &= \frac{1}{\Gamma(\alpha_1)} \int_0^\infty \xi^{\alpha_1-1} (1+\lambda\xi)^{-1/\lambda} {}_{p-1}F_q \left[ \begin{matrix} \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z\xi \right] d\xi \quad (3.2) \end{aligned}$$

for  $\lambda \in (0, \infty)$  and  $\Re(\alpha_1) > 0$ .

**Proof.** The desired result (3.2) follows from combining the equation (2.1) with the integral representation (2.2).  $\square$

**Theorem 3.2.** *The Euler–Beta type integral representation of the degenerate hypergeometric function is*

$$\begin{aligned}
 {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] &= \frac{1}{B(\alpha_p, \beta_q - \alpha_p)} \int_0^1 \xi^{\alpha_p-1} (1 - \xi)^{\beta_q - \alpha_p - 1} \\
 &\quad \times {}_{p-1}F_{q-1}^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_{p-1}; \\ \beta_1, \dots, \beta_{q-1}; \end{matrix} z\xi \right] d\xi \quad (3.3)
 \end{aligned}$$

for  $\lambda \in (0, \infty)$  and  $\Re(\beta_q) > \Re(\alpha_p) > 0$ .

**Proof.** From the equation (3.1), it follows that

$${}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] = \sum_{n=0}^\infty \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n z^n}{(\beta_1)_n \cdots (\beta_q)_n n!}.$$

Further making use of the definition of the beta function yields

$$\frac{(\alpha_p)_n}{(\beta_q)_n} = \frac{B(\alpha_p + n, \beta_q - \alpha_p)}{B(\alpha_p, \beta_q - \alpha_p)} = \frac{1}{B(\alpha_p, \beta_q - \alpha_p)} \int_0^1 \xi^{\alpha_p-1} (1 - \xi)^{\beta_q - \alpha_p - 1} d\xi.$$

The desired result (3.3) is thus obtained.  $\square$

**Corollary 3.3.** *The degenerate Kummer (confluent) hypergeometric function  ${}_1F_1^\lambda$  and the degenerate Gauss hypergeometric function  ${}_2F_1^\lambda$  have the integral representations*

$$\begin{aligned}
 {}_1F_1^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda; \\ \beta_1; \end{matrix} z \right] &= \frac{1}{\Gamma(\alpha_1)} \int_0^\infty \xi^{\alpha_1-1} (1 + \lambda\xi)^{-1/\lambda} {}_0F_1 \left[ \begin{matrix} -; \\ \beta_1; \end{matrix} z\xi \right] d\xi, \\
 {}_2F_1^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2; \\ \beta_1; \end{matrix} z \right] &= \frac{1}{\Gamma(\alpha_1)} \int_0^\infty \xi^{\alpha_1-1} (1 + \lambda\xi)^{-1/\lambda} {}_1F_1^\lambda \left[ \begin{matrix} \alpha_2; \\ \beta_1; \end{matrix} z\xi \right] d\xi, \\
 {}_2F_1^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2; \\ \beta_1; \end{matrix} z \right] &= \frac{1}{B(\alpha_2, \beta_1 - \alpha_2)} \int_0^1 \xi^{\alpha_2-1} (1 - \xi)^{\beta_1 - \alpha_2 - 1} {}_1F_0^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda; \\ -; \end{matrix} z\xi \right] d\xi
 \end{aligned}$$

on the condition that the integrals involved are convergent.

**Theorem 3.4.** *Let  $\mathfrak{N} = \mathfrak{N}_{(\zeta \pm i\infty)}$  for  $\zeta \in \mathbb{R}$  be a Mellin–Barnes contour starting at the point  $\zeta - i\infty$  and closing at the point  $\zeta + i\infty$  with the ordinary indents in order to distinguish one set of poles from the other set of poles of the integrand. Then*

$$\begin{aligned}
 {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] \\
 = \frac{1}{2\pi i} \frac{\Gamma(\beta_1) \cdots \Gamma(\beta_q)}{\Gamma(\alpha_1) \cdots \Gamma(\alpha_p)} \int_{\mathfrak{N}} \frac{\Gamma_\lambda(\alpha_1 + \xi) \cdots \Gamma(\alpha_p + \xi)}{\Gamma(\beta_1 + \xi) \cdots \Gamma(\beta_q + \xi)} \Gamma(-\xi) (-z)^\xi d\xi \quad (3.4)
 \end{aligned}$$

for  $|\arg(-z)| < \pi$ .

**Proof.** Taking the sum of residues at the pole of  $\Gamma(\xi)$  at the point  $\xi = n$  ( $n \in \mathbb{N}_0$ ) in the equation (3.9), we readily get the following series expansion:

$$\begin{aligned}
 {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] \\
 = \frac{\Gamma(\beta_1)\Gamma(\beta_2) \cdots \Gamma(\beta_q)}{\Gamma(\alpha_1)\Gamma(\alpha_2) \cdots \Gamma(\alpha_p)} \sum_{n=0}^\infty \frac{\Gamma_\lambda(\alpha_1 + n)\Gamma(\alpha_2 + n) \cdots \Gamma(\alpha_p + n)}{\Gamma(\beta_1 + n)\Gamma(\beta_2 + n) \cdots \Gamma(\beta_q + n)} \frac{z^n}{n!},
 \end{aligned}$$

which completes the proof.  $\square$

**Remark 3.5.** Taking  $p - 1 = q = 1$  in (3.4) leads to

$${}_2F_1^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2; \\ \beta_1; \end{matrix} z \right] = \frac{1}{2\pi i} \frac{\Gamma(\beta_1)}{\Gamma(\alpha_1)\Gamma(\alpha_2)} \int_{\mathfrak{N}} \frac{\Gamma_\lambda(\alpha_1 + \xi)\Gamma(\alpha_2 + \xi)}{\Gamma(\beta_1 + \xi)} \Gamma(-\xi)(-z)^\xi d\xi$$

for  $|\arg(-z)| < \pi$ .

**Theorem 3.6.** The derivative formula of the degenerate hypergeometric function  ${}_pF_q^\lambda$  is

$$\begin{aligned} \frac{d^n}{dz^n} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] \\ = \frac{(\alpha_1)_n(\alpha_2)_n \cdots (\alpha_p)_n}{(\beta_1)_n \cdots (\beta_q)_n} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1 + n)^\lambda, \alpha_2 + n, \dots, \alpha_p + n; \\ \beta_1 + n, \beta_2 + n, \dots, \beta_q + n; \end{matrix} z \right]. \end{aligned} \tag{3.5}$$

**Proof.** Differentiating on both sides of (3.1) gives

$$\begin{aligned} \frac{d}{dz} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] &= \sum_{n=1}^{\infty} \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n}{(\beta_1)_n \cdots (\beta_q)_n} \frac{z^{n-1}}{(n-1)!} \\ &= \sum_{n=0}^{\infty} \frac{(\alpha_1)_{n+1}^\lambda (\alpha_2)_{n+1} \cdots (\alpha_p)_{n+1}}{(\beta_1)_{n+1} \cdots (\beta_q)_{n+1}} \frac{z^n}{n!}. \end{aligned}$$

Further utilizing (2.3) yields

$$\frac{d}{dz} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] = \frac{\alpha_1 \cdots \alpha_p}{\beta_1 \cdots \beta_q} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1 + 1)^\lambda, \alpha_2 + 1, \dots, \alpha_p + 1; \\ \beta_1 + 1, \dots, \beta_q + 1; \end{matrix} z \right].$$

By induction on  $n \in \mathbb{N}_0$ , the desired result (3.5) follows straightforwardly. □

**Corollary 3.7.** The degenerate Kummer (confluent) hypergeometric function  ${}_1F_1^\lambda$  and the degenerate Gauss hypergeometric function  ${}_2F_1^\lambda$  satisfy

$$\frac{d^n}{dz^n} {}_1F_1^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda; \\ \beta_1; \end{matrix} z \right] = \frac{(\alpha_1)_n}{(\beta_1)_n} {}_1F_1^\lambda \left[ \begin{matrix} (\alpha_1 + n)^\lambda; \\ \beta_1 + n; \end{matrix} z \right]$$

and

$$\frac{d^n}{dz^n} {}_2F_1^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2; \\ \beta_1; \end{matrix} z \right] = \frac{(\alpha_1)_n(\alpha_2)_n}{(\beta_1)_n} {}_2F_1^\lambda \left[ \begin{matrix} (\alpha_1 + n)^\lambda, \alpha_2 + n; \\ \beta_1 + n; \end{matrix} z \right]$$

on the condition that the integrals included are convergent.

### 4. Degenerate Sumudu transforms

In this section, we define a degenerate Sumudu transform and calculate a degenerate Sumudu transforms of certain degenerate functions, such as the degenerate trigonometric functions and the degenerate hyperbolic functions, and the power function.

**Definition 4.1** (A degenerate Sumudu transform). Let  $\lambda \in (0, \infty)$  and  $f(\zeta)$  be a function defined for  $\zeta > 0$ . Then

$$S_\lambda[f(\zeta)](u) = \frac{1}{u} \int_0^\infty (1 + \lambda\zeta)^{-1/u\lambda} f(\zeta) d\zeta \tag{4.1}$$

or, equivalently,

$$G_\lambda(u) = S_\lambda[f(\zeta)] = \int_0^\infty (1 + \lambda\zeta)^{-1/\lambda} f(u\zeta) d\zeta$$

on the condition that the integrals included are convergent.

It is clear that

$$S_\lambda[\mu f(\zeta) + \nu g(\zeta)](u) = \mu S_\lambda[f(\zeta)](u) + \nu S_\lambda[g(\zeta)](u),$$

where  $\mu$  and  $\nu$  are fixed real numbers.

**Theorem 4.2.** For  $\lambda \in (0, \infty)$  and  $\kappa \in \mathbb{C}$ , we have

$$S_\lambda[1](u) = \frac{1}{1 - u\lambda}, \quad \frac{1}{u} > \lambda, \tag{4.2}$$

and

$$S_\lambda[(1 + \lambda\zeta)^{-\kappa/\lambda}](u) = \frac{1}{1 + (\kappa - \lambda)u}, \quad \frac{1}{u} > \lambda - \kappa. \tag{4.3}$$

**Proof.** Substituting  $f(\zeta) = 1$  into the equality (4.1) gives

$$S_\lambda[1](u) = \frac{1}{u} \int_0^\infty (1 + \lambda\zeta)^{-1/u\zeta} d\zeta = \frac{1}{u} \lim_{\delta \rightarrow \infty} \int_0^\delta (1 + \lambda\zeta)^{-1/u\lambda} d\zeta = \frac{1}{1 - u\lambda}.$$

The required result (4.2) is thus proved.

Similarly, we can obtain the desired result (4.3). □

**Definition 4.3** (The degenerate trigonometric and hyperbolic functions [8]). For  $\lambda \in (0, \infty)$  and  $\kappa \in \mathbb{C}$ , we define

$$\begin{aligned} \cos_\lambda(\zeta) &= \frac{1}{2} [(1 + \lambda\zeta)^{i/\lambda} + (1 + \lambda\zeta)^{-i/\lambda}], \\ \sin_\lambda(\zeta) &= \frac{1}{2i} [(1 + \lambda\zeta)^{i/\lambda} - (1 + \lambda\zeta)^{-i/\lambda}], \\ \cosh_\lambda(\kappa\zeta) &= \frac{1}{2} [(1 + \lambda\zeta)^{\kappa/\lambda} + (1 + \lambda\zeta)^{-\kappa/\lambda}], \end{aligned} \tag{4.4}$$

and

$$\sinh_\lambda(\kappa\zeta) = \frac{1}{2} [(1 + \lambda\zeta)^{\kappa/\lambda} - (1 + \lambda\zeta)^{-\kappa/\lambda}].$$

**Theorem 4.4.** For  $\lambda \in (0, \infty)$  and  $\kappa \in \mathbb{C}$ , the degenerate Sumudu transforms of the degenerate trigonometric and the hyperbolic functions are

$$\begin{aligned} S_\lambda[\cos_\lambda(\kappa\zeta)](u) &= \frac{u(1 - u\lambda)}{(1 - u\lambda)^2 + u^2\kappa^2}, \\ S_\lambda[\sin_\lambda(\kappa\zeta)](u) &= \frac{u\kappa}{(1 - u\lambda)^2 + u^2\kappa^2}, \\ S_\lambda[\cosh_\lambda(\kappa\zeta)](u) &= \frac{u(1 - u\lambda)}{(1 - u\lambda)^2 - u^2\kappa^2}, \end{aligned} \tag{4.5}$$

and

$$S_\lambda[\sinh_\lambda(\kappa\zeta)](u) = \frac{u\kappa}{(1 - u\lambda)^2 - u^2\kappa^2}. \tag{4.6}$$

**Proof.** Putting the first equality (4.4) into (4.1) results in

$$\begin{aligned} S_\lambda[\cos_\lambda(\kappa\zeta)](u) &= \frac{1}{u} \int_0^\infty (1 + \lambda\zeta)^{-1/u\lambda} \cos_\lambda(\kappa\zeta) d\zeta \\ &= \frac{1}{2u} \int_0^\infty [(1 + \lambda\zeta)^{-(1/u - \kappa i)/\lambda} + (1 + \lambda\zeta)^{-(1/u + \kappa i)/\lambda}] d\zeta \\ &= \frac{1}{2u} \left( \frac{1}{1/u - \lambda - \kappa i} + \frac{1}{1/u - \lambda + \kappa i} \right) \\ &= \frac{u(1 - u\lambda)}{(1 - u\lambda)^2 + u^2\kappa^2}. \end{aligned}$$

The first required result in (4.5) is thus proved.

Similarly, we can obtain the desired results from the second one in (4.5) to (4.6) readily. □

**Theorem 4.5.** For  $\lambda \in (0, \infty)$ ,  $\frac{1}{u} > (n + 1)\lambda$ , and  $n \in \mathbb{N}$ , the degenerate Sumudu transform of the power function  $\zeta^n$  is

$$S_\lambda[\zeta^n](u) = u^n \Gamma_{u\lambda}(n + 1). \tag{4.7}$$

**Proof.** Applying the degenerate Sumudu transform (4.1) to the power function  $\zeta^n$  gives

$$S_\lambda[\zeta^n](u) = \frac{1}{u} \int_0^\infty (1 + \lambda\zeta)^{-1/u\lambda} \zeta^n d\zeta. \quad (4.8)$$

Integrating by part consecutively in the equation (4.8) reveals

$$\begin{aligned} S_\lambda[\zeta^n](u) &= \frac{1}{u} \int_0^\infty (1 + \lambda\zeta)^{-1/u\lambda} \zeta^n d\zeta \\ &= \frac{n}{(1 - u\lambda)} \int_0^\infty (1 + \lambda\zeta)^{-(1-u\lambda)/u\lambda} \zeta^{n-1} d\zeta \\ &= \frac{un(n-1)}{(1 - u\lambda)(1 - 2u\lambda)} \int_0^\infty (1 + \lambda\zeta)^{-(1-2u\lambda)/u\lambda} \zeta^{n-2} d\zeta \\ &= \dots \\ &= \frac{n!u^n}{(1 - u\lambda)(1 - 2u\lambda) \cdots (1 - (n+1)u\lambda)} \\ &= u^n \Gamma_{u\lambda}(n+1). \end{aligned}$$

Thus, we obtain the desired result (4.7).  $\square$

## 5. Integral transforms

**Theorem 5.1.** *The Euler–Beta transform of the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) is*

$$\begin{aligned} B \left\{ {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; wz \\ \beta_1, \beta_2, \dots, \beta_q \end{matrix} \right]; \mu, \nu \right\} \\ = \frac{\Gamma(\mu)\Gamma(\nu)}{\Gamma(\mu + \nu)} {}_{p+1}F_{q+1}^\lambda \left[ \begin{matrix} \mu, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; w \\ \mu + \nu, \beta_1, \beta_2, \dots, \beta_q \end{matrix} \right] \end{aligned} \quad (5.1)$$

for  $\Re(\mu) > 0$  and  $\Re(\nu) > 0$ .

**Proof.** Substituting the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) into the Euler–Beta transform in [3, 4, 9] gives

$$\begin{aligned} B \left\{ {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; wz \\ \beta_1, \beta_2, \dots, \beta_q \end{matrix} \right]; \mu, \nu \right\} \\ = \int_0^1 z^{\mu-1} (1-z)^{\nu-1} \sum_{n=0}^{\infty} \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n}{(\beta_1)_n (\beta_2)_n \cdots (\beta_q)_n} \frac{(wz)^n}{n!} dz. \end{aligned} \quad (5.2)$$

Interchanging the order of the sum (5.2) leads to the formula (5.1).  $\square$

**Theorem 5.2.** *The Laplace transform of the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) is*

$$L \left\{ z^{\mu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; wz \\ \beta_1, \beta_2, \dots, \beta_q \end{matrix} \right]; \delta \right\} = \frac{\Gamma(\mu)}{\delta^\mu} {}_{p+1}F_q \left[ \begin{matrix} \mu, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \frac{w}{\delta} \\ \beta_1, \beta_2, \dots, \beta_q \end{matrix} \right] \quad (5.3)$$

for  $\mu \in \mathbb{C}$ ,  $\Re(\mu) > 0$ , and  $|\frac{w}{\delta}| < 1$ .

**Proof.** Applying the Laplace transform in [1] to the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) gives

$$\begin{aligned} L \left\{ z^{\mu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; wz \\ \beta_1, \beta_2, \dots, \beta_q \end{matrix} \right]; \delta \right\} \\ = \int_0^\infty z^{\mu-1} \exp(-\delta z) \sum_{n=0}^{\infty} \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n}{(\beta_1)_n \cdots (\beta_q)_n} \frac{(wz)^n}{n!} dz. \end{aligned} \quad (5.4)$$

Interchanging the order of sum and integral in (5.4) and making use of the Laplace equality

$$L\{z^{\mu+n-1}; \delta\} = \frac{\Gamma(\mu+n)}{\delta^{\mu+n}}$$

in [3, 4, 9], we can obtain the desired result (5.3) readily. □

**Theorem 5.3.** *The degenerate Laplace transform of the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) is*

$$\begin{aligned} L_\lambda \left\{ z^{\mu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right]; \delta \right\} \\ = \frac{\Gamma(\mu)}{\delta^\mu} {}_{p+1}F_q \left[ \begin{matrix} (\mu)^{\lambda/\delta}, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} \frac{w}{\delta} \right] \end{aligned} \quad (5.5)$$

for  $\mu, \delta \in \mathbb{C}$ .

**Proof.** Using the degenerate Laplace transform in [8] to the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) gives

$$\begin{aligned} L_\lambda \left\{ z^{\mu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right]; \delta \right\} \\ = \int_0^\infty z^{\mu-1} (1 + \lambda z)^{-\delta/\lambda} \sum_{n=0}^\infty \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n (wz)^n}{(\beta_1)_n \cdots (\beta_q)_n n!} dz. \end{aligned} \quad (5.6)$$

Shifting the order between sum and integral in (5.6) and utilizing the degenerate Laplace equality

$$L_\lambda\{z^{\mu+n-1}; \delta\} = \frac{\Gamma_{\lambda/\delta}(\mu+n)}{\delta^{\mu+n}}.$$

for the power function in [8] result in the desired result (5.5). □

**Theorem 5.4.** *The Sumudu transform of the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) is*

$$\begin{aligned} S \left\{ z^{\mu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right] \right\} (u) \\ = \Gamma(\mu) {}_{p+1}F_q \left[ \begin{matrix} \mu, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} uw \right] \end{aligned} \quad (5.7)$$

for  $\Re(\mu) \in \mathbb{C}$ .

**Proof.** Applying the Sumudu transform in [5, 24] to the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) yields

$$\begin{aligned} S \left\{ z^{\mu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right] \right\} (u) \\ = \int_0^\infty z^{\mu-1} \exp(-z) \sum_{n=0}^\infty \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n (uwz)^n}{(\beta_1)_n \cdots (\beta_q)_n n!} dz. \end{aligned} \quad (5.8)$$

Interchanging the order of integral and sum in (5.8) and employing the well-known integral formula

$$\Gamma(\mu+n) = \int_0^\infty z^{\mu+n-1} \exp(-z) dz$$

in [1, 15] for the gamma function conclude the required result (5.7). □



**Theorem 5.5.** *The degenerate Sumudu transform of the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) is*

$$S_\lambda \left\{ z^{\mu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right] \right\} (u) \\ = u^{\mu-1} \Gamma(\mu) {}_{p+1}F_q \left[ \begin{matrix} (\mu)^{u\lambda}, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} uw \right] \quad (5.9)$$

for  $\mu, \delta \in \mathbb{C}$ .

**Proof.** Using the degenerate Sumudu transform in (4.1) to the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) gives

$$S_\lambda \left\{ z^{\mu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right] \right\} (u) \\ = \int_0^\infty z^{\mu-1} (1 + \lambda z)^{-1/u\lambda} \sum_{n=0}^\infty \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n (uwz)^n}{(\beta_1)_n \cdots (\beta_q)_n n!} dz. \quad (5.10)$$

Shifting the order of sum and integral in (5.10) and employing degenerate Sumudu equality

$$S_\lambda \{ z^{\mu+n-1} \} (u) = u^{\mu+n-1} \Gamma_{u\lambda}(\mu + n)$$

in (4.7) for the power function conclude the desired result (5.9) immediately.  $\square$

**Theorem 5.6.** *The Stieltjes transform of the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) is*

$$\mathfrak{S} \left\{ z^{\mu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right] \right\} (t) \\ = t^{\mu-1} B(\mu, 1 - \mu) {}_{p+2}F_q \left[ \begin{matrix} \mu, 1 - \mu, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wt \right] \quad (5.11)$$

for  $\Re(\mu) \in \mathbb{C}$ .

**Proof.** Using the Stieltjes transform in [4, 9] to the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) leads to

$$\mathfrak{S} \left\{ z^{\mu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right] \right\} (t) \\ = \int_0^\infty \frac{z^{\mu-1}}{z+t} \sum_{n=0}^\infty \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n (wz)^n}{(\beta_1)_n \cdots (\beta_q)_n n!} dz. \quad (5.12)$$

Setting  $\frac{z}{t} = \nu$  and  $\nu = \frac{\delta}{1-\delta}$ , interchanging the order of integration and summation in (5.12), and using the integral representation

$$t^{\mu+n-1} \int_0^1 \delta^{\mu+n-1} (1-\delta)^{1-n+\mu-1} d\delta = t^{\mu+n-1} B(\mu + n, 1 - \mu + n)$$

in [1, 15] conclude the desired result (5.11).  $\square$

**Theorem 5.7.** *The Laguerre transform of the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) is*

$$\mathfrak{L}^{(a)} \left\{ z^{\mu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right] \right\} \\ = \frac{\Gamma(2-\mu)\Gamma(\mu+a)}{\Gamma(1-\mu)} {}_{p+1}F_q \left[ \begin{matrix} \mu+a, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} w \right] \quad (5.13)$$

for  $\Re(\mu) \in \mathbb{C}$ .

**Proof.** Applying the Laguerre transform in [4, 9] to the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) gives

$$\begin{aligned} \mathfrak{L}^{(a)} \left\{ z^{\mu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right] \right\} \\ = \int_0^\infty z^{\mu+a-1} \exp(-z) L_m^{(a)}(z) \sum_{n=0}^\infty \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n (wz)^n}{(\beta_1)_n \cdots (\beta_q)_n n!} dz. \end{aligned} \tag{5.14}$$

Shifting the order of integration and summation in (5.14), utilizing the integral equation

$$\int_0^\infty z^{\mu+n+a-1} \exp(-z) L_m^{(a)}(z) dz = \frac{\Gamma(\mu + a + n) \Gamma(m - \mu + 1)}{m! \Gamma(1 - \mu)}$$

in [4, 9] conclude the required result (5.14). □

### 6. Fractional calculus approach

In this section, we infer several formulas for the Riemann–Liouville fractional integral  $I_{a+}^\nu$  and the fractional derivative operators  $D_{a+}^\nu$  for the degenerate hypergeometric function  ${}_pF_q^\lambda(z)$  in (3.1).

Let us recall from [6, 7, 21] that

$$(I_{a+}^\nu \varphi)(y) = \frac{1}{\Gamma(\nu)} \int_a^y \frac{\varphi(t)}{(y-t)^{1-\nu}} dt \tag{6.1}$$

and

$$(D_{a+}^\nu \varphi)(y) = \left( \frac{d}{dy} \right)^n \frac{1}{\Gamma(n-\nu)} \int_a^y \frac{\varphi(t)}{(y-t)^{1-n+\nu}} dt = \left( \frac{d}{dy} \right)^n (I_{a+}^{n-\nu} \varphi)(y) \tag{6.2}$$

for  $\nu \in \mathbb{C}$ ,  $\Re(\nu) > 0$ , and  $n = [\Re(\nu)] + 1$ , where  $[v]$  means the greatest integer not exceeding  $\Re(v)$ .

An alternative generalization of the Riemann–Liouville fractional derivative operator  $D_{a+}^\nu$  in (6.2) by introducing a right-sided Riemann–Liouville fractional derivative operator  $D_{a+}^{\mu,\nu}$  of order  $0 < \mu < 1$  and type  $0 < \nu < 1$  with respect to  $y$  by Hilfer [6] is given by

$$(D_{a+}^{\mu,\nu} \varphi)(y) = \left( I_{a+}^{\nu(1-\mu)} \frac{d}{dy} \right) \left( I_{a+}^{(1-\nu)(1-\mu)} \varphi \right)(y) \tag{6.3}$$

for  $\mu \in \mathbb{C}$ ,  $\Re(\mu) > 0$ , and  $n = [\Re(\mu)] + 1$ .

**Remark 6.1.** When  $\mu = 0$  in (6.3), we derive the classical Riemann–Liouville fractional derivative operator  $D_{a+}^\nu$  in [7].

**Theorem 6.2.** Let  $a \in [0, \infty)$ ,  $\beta_q, \nu, w, \mu \in \mathbb{C}$ , and  $\Re(\beta_q), \Re(\nu), \Re(w), \Re(\mu) > 0$ . Then, for  $\kappa > a$ , we have

$$\begin{aligned} \left\{ I_{a+}^\nu (w-a)^{\beta_q-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z(w-a) \right] \right\} (\kappa) \\ = \frac{(\kappa-a)^{\beta_q+\nu-1} \Gamma(\beta_q)}{\Gamma(\beta_q+\nu)} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q+\nu; \end{matrix} z(\kappa-a) \right], \end{aligned} \tag{6.4}$$

$$\begin{aligned} \left( D_{a+}^\nu (w-a)^{\beta_q-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} w(z-a) \right] \right) (\kappa) \\ = \frac{(\kappa-a)^{\beta_q-\nu-1} \Gamma(c)}{\Gamma(\beta_q-\nu)} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q-\nu; \end{matrix} z(\kappa-a) \right], \end{aligned} \tag{6.5}$$

and

$$\begin{aligned} & \left( D_{a+}^{\mu,\nu} (w-a)^{\beta_q-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z(w-a) \right] \right) (\kappa) \\ &= \frac{(\kappa-a)^{\beta_q-\mu-\nu-1} \Gamma(\beta_q)}{\Gamma(\beta_q-\mu-\nu)} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q-\mu-\nu; \end{matrix} z(\kappa-a) \right]. \end{aligned} \tag{6.6}$$

**Proof.** Applying (6.1) to the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) and making use of

$$I_{\alpha+}^\nu \{(w-a)^{\beta_q-1}\}(\kappa) = \frac{(\kappa-a)^{\beta_q+\nu-1} \Gamma(\beta_q)}{\Gamma(\beta_q+\nu)}$$

in [6, 7] to fractionally integrate term-by-term lead to

$$\begin{aligned} & \left( I_{a+}^\nu (w-a)^{\beta_q-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z(w-a) \right] \right) (\kappa) \\ &= \sum_{n=0}^\infty \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n z^n}{(\beta_1)_n \cdots (\beta_q)_n n!} I_{a+}^\nu \{(w-a)^{\beta_q+n-1}\} \\ &= \frac{(\kappa-a)^{\beta_q+\nu-1} \Gamma(\beta_q)}{\Gamma(\beta_q+\nu)} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q+\nu; \end{matrix} z(\kappa-a) \right]. \end{aligned}$$

Making use of (6.2) and (3.1) and taking into account (6.4) with  $\nu$  replaced by  $n-\nu$  yield

$$\begin{aligned} & \left( D_{a+}^\nu \{(w-a)^{c-1}\} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z(w-a) \right] \right) (\kappa) \\ &= \left( \frac{d}{d\kappa} \right)^n \left( I_{a+}^{n-\nu} \{(w-a)^{\beta_q-1}\} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q-\nu; \end{matrix} z(w-a) \right] \right) (\kappa) \\ &= \left( \frac{d}{d\kappa} \right)^n \left\{ \frac{(\kappa-a)^{c+n-\nu-1} \Gamma(\beta_q)}{\Gamma(\beta_q+n-\nu)} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q-\nu; \end{matrix} z(\kappa-a) \right] \right\}. \end{aligned} \tag{6.7}$$

Differentiating (6.7) term-by-term and using (3.1) again lead to the formula (6.5).

Finally, by (6.3) and (3.1), we have

$$\begin{aligned} & \left( D_{a+}^{\mu,\nu} \{(w-a)^{\beta_q-1}\} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z(w-a) \right] \right) (\kappa) \\ &= \left( D_{a+}^{\mu,\nu} \left[ \sum_{n=0}^\infty \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n z^n}{(\beta_1)_n \cdots (\beta_q)_n n!} (w-a)^{\beta_q+n-1} \right] \right) (\kappa) \\ &= \sum_{n=0}^\infty \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n z^n}{(\beta_1)_n \cdots (\beta_q)_n n!} (D_{a+}^{\mu,\nu} (w-a)^{\beta_q+n-1}) (\kappa). \end{aligned} \tag{6.8}$$

Substituting the relation

$$D_{a+}^{\mu,\nu} \{(w-a)^{\rho-1}\}(\kappa) = \frac{\Gamma(\rho)}{\Gamma(\rho-\mu-\nu)} (\kappa-a)^{\rho-\mu-\nu-1}$$

for  $\kappa > a$ ,  $0 < \mu < 1$ ,  $0 \leq \nu \leq 1$ , and  $\Re(\rho) > 0$  in [6, 7] into (6.8) leads to the desired result (6.6). □

### 7. Fractional calculus operators

In this section, we derive certain fractional derivative operators for the degenerate hypergeometric function  ${}_pF_q^\lambda(z)$  defined by (3.1). For attaining this purpose, we evoke the derivative operators  $\{D_{0+}^{\mu,\delta,\xi} f\}(y)$  and  $\{D_{\infty-}^{\mu,\delta,\xi} f\}(y)$  which are given in terms of integral

operators  $\{I_{0+}^{\mu,\delta,\xi} f\}(y)$  and  $\{I_{\infty-}^{\mu,-\delta,\xi} f\}(y)$ . In addition to these fractional derivative operators, we give the following definitions for the relations among the Riemann–Liouville, Erdélyi–Kober, and Weyl fractional operators in [6, 7, 21].

**Definition 7.1.** For  $y > 0$ ,  $\mu, \delta, \xi \in \mathbb{C}$ , and  $\Re(\mu) > 0$ , the left sided fractional integral and derivative operators  $\{D_{0+}^{\mu,\delta,\xi} f\}(y)$  and  $\{I_{0+}^{\mu,\delta,\xi} f\}(y)$ , the right sided fractional integral and derivative operators  $\{D_{\infty-}^{\mu,\delta,\xi} f\}(y)$  and  $\{I_{\infty-}^{\mu,-\delta,\xi} f\}(y)$  are defined [21] respectively by

$$\begin{aligned} \{I_{0+}^{\mu,\delta,\xi} f\}(y) &= \frac{y^{-\mu-\delta}}{\Gamma(\mu)} \int_0^y {}_2F_1^\lambda\left(\mu + \delta, -\xi; \mu; 1 - \frac{t}{y}\right) f(t) dt, \\ \{D_{0+}^{\mu,\delta,\xi} f\}(y) &= \{I_{0+}^{-\mu,-\delta,\mu+\xi} f\}(y) = \left(\frac{d}{dy}\right)^m \{I_{0+}^{-\mu+\xi,-\delta-\xi,\mu+\xi-m} f\}(y), \\ \{I_{\infty-}^{\mu,\delta,\xi} f\}(y) &= \frac{1}{\Gamma(\mu)} \int_0^y (t-y)^{-\mu} t^{-\mu-\xi} {}_2F_1^\lambda\left(\mu + \delta, -\xi; \mu; 1 - \frac{y}{t}\right) f(t) dt, \end{aligned} \tag{7.1}$$

and

$$\{D_{\infty-}^{\mu,\delta,\xi} f\}(y) = \{I_{\infty-}^{-\mu,-\delta,\mu+\xi} f\}(y) = \left(-\frac{d}{dy}\right)^m \{I_{0+}^{-\mu+\xi,-\delta-\xi,\mu+\xi-m} f\}(y), \tag{7.2}$$

where  $m = [\Re(\mu)] + 1$ .

Together with above fractional derivative operators, we have

$$RL_{0+}^\mu = D_{0+}^{\mu,-\mu,\xi}, \quad EK_{0+}^{\mu,\xi} = D_{0+}^{\mu,0,\xi}, \quad W_{\infty-}^\mu = D_{\infty-}^{\mu,-\mu,\xi}, \quad EK_{\infty-}^{\mu,\xi} = D_{\infty-}^{\mu,0,\xi},$$

where  $RL$ ,  $EK$ , and  $W$  denote the Riemann–Liouville, Erdélyi–Kober, and Weyl fractional calculus operators respectively. See [21] and closely related references therein.

**Theorem 7.2.** *The fractional derivative operator of the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) is*

$$\begin{aligned} \left\{ D_{0+}^{\mu,\delta,\xi} w^{\nu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} w z \right] \right\} (\eta) &= \eta^{\nu+\delta-1} \frac{\Gamma(\nu)\Gamma(\nu + \mu + \delta + \xi)}{\Gamma(\nu + \delta)\Gamma(\nu + \xi)} \\ &\times {}_{p+2}F_{q+2} \left[ \begin{matrix} \nu, \nu + \mu + \delta + \xi, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \nu + \delta, \nu + \xi, \beta_1, \beta_2, \dots, \beta_q; \end{matrix} \eta z \right] \end{aligned} \tag{7.3}$$

for  $\eta > 0$ ,  $\Re(\mu) \geq 0$ , and  $\Re(\nu) > -\min\{0, \Re(\mu + \delta + \xi)\}$ .

**Proof.** Applying the left sided hypergeometric fractional transform (7.1) to the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) and interchanging the order of integration and summation reveal

$$\begin{aligned} \left\{ D_{0+}^{\mu,\delta,\xi} w^{\nu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} w z \right] \right\} (\eta) \\ = \sum_{n=0}^{\infty} \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n z^n}{(\beta_1)_n \cdots (\beta_q)_n n!} \{D_{0+}^{\mu,\delta,\xi} w^{\nu+n-1}\}(\eta). \end{aligned} \tag{7.4}$$

Further substituting the well-known fractional derivative operator equality

$$\{D_{0+}^{\mu,\delta,\xi} w^{\nu+n-1}\}(\eta) = \eta^{\nu+n+\delta-1} \frac{\Gamma(\nu + n)\Gamma(\nu + n + \mu + \delta + \xi)}{\Gamma(\nu + n + \delta)\Gamma(\nu + n + \xi)}$$

for the power functions in [21] into the equation (7.4) results in (7.3). □

**Theorem 7.3.** *The fractional derivative operator of the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) is*

$$\begin{aligned} & \left\{ D_{\infty^-}^{\mu, \delta, \xi} w^{\nu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right] \right\} (\eta) \\ &= \eta^{\nu+\delta-1} \frac{\Gamma(1-\nu-\delta)\Gamma(1-\nu+\mu+\xi)}{\Gamma(1-\nu)\Gamma(1-\nu+\xi-\delta)} \\ & \quad \times {}_{p+2}F_{q+2} \left[ \begin{matrix} 1-\nu-\delta, 1-\nu+\mu+\xi, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ 1-\nu+\xi-\delta, 1-\nu, \beta_1, \beta_2, \dots, \beta_q; \end{matrix} \frac{z}{\eta} \right] \end{aligned} \quad (7.5)$$

for  $\eta > 0$ ,  $\Re(\mu) \geq 0$ , and  $\Re(\nu) > -\min\{0, \Re(\mu + \delta + \xi)\}$ .

**Proof.** Applying the right sided hypergeometric fractional transform (7.2) to the degenerate hypergeometric function  ${}_pF_q^\lambda$  in (3.1) and interchanging the order of integration and summation acquire

$$\begin{aligned} & \left\{ D_{\infty^-}^{\mu, \delta, \xi} w^{\nu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right] \right\} (\eta) \\ &= \sum_{n=0}^{\infty} \frac{(\alpha_1)_n^\lambda (\alpha_2)_n \cdots (\alpha_p)_n z^n}{(\beta_1)_n \cdots (\beta_q)_n n!} \{ D_{\infty^-}^{\mu, \delta, \xi} w^{\lambda-n-1} \} (\eta). \end{aligned} \quad (7.6)$$

Further substituting the well-known fractional derivative operator equality

$$\{ D_{0^+}^{\mu, \delta, \xi} w^{\nu-n-1} \} \eta = \eta^{\nu-n+\delta-1} \frac{\Gamma(1-\nu+n-\delta)\Gamma(1-\nu+n+\mu+\xi)}{\Gamma(1-\nu+n)\Gamma(1-\nu+n+\xi-\delta)}$$

for the power functions in [21] into the equation (7.6) yields (7.5). □

**Corollary 7.4.** *The left sided Riemann–Liouville fractional derivative operator for  ${}_pF_q^\lambda(wz)$  (3.1) is*

$$\begin{aligned} & \left\{ RL_{0^+}^\mu w^{\nu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right] \right\} (\eta) \\ &= \eta^{\nu-\mu-1} \frac{\Gamma(\nu)}{\Gamma(\nu-\mu)} {}_{p+1}F_{q+1} \left[ \begin{matrix} \nu, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \nu-\mu, \beta_1, \beta_2, \dots, \beta_q; \end{matrix} \eta z \right] \end{aligned}$$

for  $\eta > 0$ ,  $\Re(\mu) \geq 0$ , and  $\Re(\nu) > -\min\{0, \Re(\mu)\}$ .

*The left sided Erdélyi–Kober fractional derivative operator for  ${}_pF_q^\lambda(wz)$  (3.1) is*

$$\begin{aligned} & \left\{ EK_{0^+}^{\mu, \xi} w^{\nu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right] \right\} (\eta) \\ &= \eta^{\nu-1} \frac{\Gamma(\nu+\mu+\xi)}{\Gamma(\nu+\xi)} {}_{p+1}F_{q+1} \left[ \begin{matrix} \nu+\mu+\xi, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \nu+\xi, \beta_1, \beta_2, \dots, \beta_q; \end{matrix} \eta z \right] \end{aligned}$$

for  $\eta > 0$ ,  $\Re(\mu) \geq 0$ , and  $\Re(\nu) > -\min\{0, \Re(\mu + \xi)\}$ .

**Proof.** These follow from putting  $\delta = -\mu$  and  $\delta = 0$  in (7.3) respectively. □

**Corollary 7.5.** *The right sided Weyl fractional derivative operator for  ${}_pF_q^\lambda(z)$  in (3.1) is*

$$\begin{aligned} & \left\{ W_{\infty^-}^\mu w^{\nu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right] \right\} (\eta) \\ &= \eta^{\nu-\mu-1} \frac{\Gamma(1-\nu+\mu)}{\Gamma(1-\nu)} {}_{p+1}F_{q+1} \left[ \begin{matrix} 1-\nu+\mu+\xi, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ 1-\nu, \beta_1, \beta_2, \dots, \beta_q; \end{matrix} \frac{z}{\eta} \right] \end{aligned}$$

for  $\eta > 0$ ,  $\Re(\mu) \geq 0$ , and  $\Re(\nu) < 1 + \min\{-\Re(-\mu + \xi), \Re(\mu + \xi)\}$ .

The right sided Erdélyi–Kober fractional derivative operator for  ${}_pF_q^\lambda(z)$  in (3.1) is

$$\left\{ EK_{\infty-}^{\mu,\xi} w^{\nu-1} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} wz \right] \right\} (\eta) = \eta^{\nu-1} \frac{\Gamma(1-\nu+\mu+\xi)}{\Gamma(1-\nu+\xi)} {}_{p+1}F_{q+1} \left[ \begin{matrix} 1-\nu+\mu+\xi, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ 1-\nu+\xi, \beta_1, \beta_2, \dots, \beta_q; \end{matrix} \frac{z}{\eta} \right]$$

for  $\eta > 0, \Re(\mu) \geq 0, \Re(\nu) < 1 + \min\{-\Re(\xi), \Re(\mu + \xi)\}$ .

**Proof.** These follow from applying  $\delta = -\mu$  and  $\delta = 0$  in (7.5) respectively. □

### 8. Generating functions

In this section, we obtain from the generating functions for the generalized degenerate hypergeometric function  ${}_pF_q^\lambda(z)$  in (3.1). We find it to be proper to choose the shortened notation  $\Delta(K; \xi)$  which represent the array of  $K$ -parameters

$$\frac{\xi}{K}, \frac{\xi + 1}{K}, \frac{\xi + 2}{K}, \dots, \frac{\xi + K - 1}{K}$$

for  $\xi \in \mathbb{C}$  and  $K \in \mathbb{N}$ . The array  $\Delta(K; \xi)$  is understood to be empty when  $K = 0$ .

We first establish the following generating function for the corresponding deduced results mentioned in [2, 17, 19].

**Theorem 8.1.** For  $|w| < 1, \xi \in \mathbb{C}$ , and  $K \in \mathbb{N}$ , we have

$$\sum_{n=0}^{\infty} \frac{(\xi)_n}{n!} {}_{p+K}F_q \left[ \begin{matrix} \Delta(K; \xi + n), (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} w^n \right] = \frac{1}{(1-w)^\xi} {}_{r+K}F_s \left[ \begin{matrix} \Delta(K; \xi), (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} \frac{z}{(1-w)^K} \right] \quad (8.1)$$

on the condition such that each member of (8.1) exists.

**Proof.** By virtue of (3.1), the left-hand side of (8.1) can be reformulated as

$$\sum_{n=0}^{\infty} \frac{(\xi)_n}{n!} \left[ \sum_{m=0}^{\infty} \frac{(\xi + n)_{Km} (\alpha_1)_m^\lambda (\alpha_2)_m \dots (\alpha_p)_m z^m}{(\beta_1)_m (\beta_2)_m \dots (\beta_q)_m m!} \right] w^n = \sum_{m=0}^{\infty} \frac{(\xi)_{Km} (\alpha_1)_m^\lambda (\alpha_2)_m \dots (\alpha_p)_m z^m}{(\beta_1)_m (\beta_2)_m \dots (\beta_q)_m m!} \left[ \sum_{n=0}^{\infty} (\xi + Km)_n \frac{w^n}{n!} \right], \quad (8.2)$$

where we have changed the order of summations and used the identity

$$(\xi + n)_{Km} (\xi)_n = (\xi)_{Km} (\xi + Km)_n$$

in [1, 15]. Making use of the binomial summation

$$(1-w)^{-\xi-Km} = \sum_{n=0}^{\infty} (\xi + Km)_n \frac{w^n}{n!}, \quad |w| < 1$$

from [19] in (8.2) and using (3.1) again arrive at the desired result (8.1). □

**Theorem 8.2.** If  $|w| < 1, \xi \in \mathbb{C}$ , and  $K \in \mathbb{N}$ , then

$$\sum_{n=0}^{\infty} \frac{(\xi)_n}{n!} {}_{p+K}F_q \left[ \begin{matrix} \Delta(K; -n), (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] w^n = (1-w)^{-\xi} {}_{p+K}F_q \left[ \begin{matrix} \Delta(K; \xi), (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \left(-\frac{w}{1-w}\right)^K \right], \quad (8.3)$$

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{(\xi)_n}{n!} {}_{p+2K}F_q \left[ \begin{matrix} \Delta(K; -n), \Delta(K; \xi + n), (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] w^n \\ = (1-w)^{-\xi} {}_{p+2K}F_q \left[ \begin{matrix} \Delta(2K; \xi), (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \left(-\frac{4w}{(1-w)^2}\right)^K \right], \end{aligned} \quad (8.4)$$

and

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{(\xi)_n}{n!} {}_{p+K}F_{q+K} \left[ \begin{matrix} \Delta(K; -n), (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \Delta(K; 1 - \xi - n), \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] w^n \\ = (1-w)^{-\xi} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z w^K \right] \end{aligned} \quad (8.5)$$

for  $|w| < 1$ ,  $\xi \in \mathbb{C}$ , and  $K \in \mathbb{N}$  on conditions such that each member of the arguments in (8.3), (8.4), and (8.5) exists.

**Proof.** The generating functions (8.3) to (8.5) can be established by following the method of derivation of the generating function (8.1).  $\square$

**Corollary 8.3.** Each of the following generating functions hold true:

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{(\xi)_n}{n!} {}_{p+1}F_q \left[ \begin{matrix} \xi + n, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] w^n \\ = (1-w)^{-\xi} {}_{p+1}F_q \left[ \begin{matrix} \xi, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} \frac{z}{1-w} \right], \\ \sum_{n=0}^{\infty} \frac{(\xi)_n}{n!} {}_{p+2}F_q \left[ \begin{matrix} -n, \xi + n, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] w^n \\ = (1-w)^{-\xi} {}_{p+2}F_q \left[ \begin{matrix} \Delta(2; \xi), (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} -\frac{4zw}{(1-w)^2} \right], \end{aligned}$$

and

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{(\xi)_n}{n!} {}_{p+1}F_{q+1} \left[ \begin{matrix} -n, (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ 1 - \xi - n, \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] w^n \\ = (1-w)^{-\xi} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z w \right]. \end{aligned}$$

**Proof.** These follow from taking  $K = 1$  in (8.3), (8.4), and (8.5).  $\square$

**Theorem 8.4.** The generating function

$$\begin{aligned} \sum_{n=0}^{\infty} \binom{\zeta + n - 1}{n} {}_pF_{q+1} \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ 1 - \zeta - n, \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] w^n \\ = (1-w)^{-\zeta} {}_pF_{q+1} \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ 1 - \zeta, \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z(1-w) \right] \end{aligned} \quad (8.6)$$

for  ${}_pF_q^\lambda(z)$  in (3.1) holds true.

**Proof.** This follows from applying the identity

$$(1 - \zeta - n)_m = (1 - \zeta)_m \binom{\zeta + n - 1}{n} \binom{\zeta + m - n + 1}{n}^{-1}, \quad m, n \in \mathbb{N}_0$$

in [1, 15, 19] into the left hand side of (8.6) and simplifying.  $\square$

**Theorem 8.5.** *The generating function*

$$\sum_{m=0}^{\infty} \binom{\xi + m - 1}{m} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \xi + m, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] w^m = (1 - w)^{-\xi} {}_pF_q^\lambda \left[ \begin{matrix} (\alpha_1)^\lambda, \xi, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} \frac{z}{1 - w} \right] \quad (8.7)$$

for  ${}_pF_q^\lambda(z)$  in (3.1) holds true.

**Proof.** When putting  $\alpha_2 = \xi + m$  and  $\zeta = 1 - n$  in the equation (8.1), the left side of the equality (8.7) becomes

$$\sum_{m=0}^{\infty} \frac{(\alpha_1)_n^\lambda (\xi + m)_n \cdots (\alpha_p)_n}{(\beta_1)_n \cdots (\beta_q)_n} \left[ \sum_{m=0}^{\infty} \binom{\zeta + m + n - 1}{m} w^m \right] \frac{z^n}{n!}. \quad (8.8)$$

Applying

$$\sum_{m=0}^{\infty} \binom{\zeta + n + m - 1}{m} w^m = (1 - w)^{-\zeta - n}$$

in [19] to (8.8) yields the required result (8.7). □

**Theorem 8.6.** *Let*

$$\begin{aligned} \Phi_m^{(\mu, \nu), \lambda}(z) &= \Phi_m^{(\mu, \nu)} \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] \\ &= {}_pF_{q+\nu} \left[ \begin{matrix} (\alpha_1)^\lambda, \alpha_2, \dots, \alpha_p; \\ \Delta(\nu; 1 - \mu - m), \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] \end{aligned} \quad (8.9)$$

for  $\nu \in \mathbb{N}$  and  $\mu \in \mathbb{C}$ , where

$$\Delta(\nu; \mu) = \frac{\mu}{\nu} \frac{\mu + 1}{\nu} \cdots \frac{\mu + \nu - 1}{\nu}.$$

Then

$$\sum_{n=0}^{\infty} \binom{\mu + n - 1}{n} \Phi_{m+n}^{(\mu, \nu), \lambda}(z) w^n = \frac{\Phi_m^{(\mu, \nu), \lambda}((1 - w)^\nu z)}{(1 - w)^{\mu + m}} \quad (8.10)$$

for  $m \in \mathbb{N}_0$ ,  $\mu \in \mathbb{C}$ ,  $\nu \in \mathbb{N}$ , and  $|w| < 1$ .

**Proof.** The left side of the equality (8.10) can be arranged as

$$\sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \binom{\mu + m + n - 1}{n} \frac{(\alpha_1)_{m+n}^\lambda (\alpha_2)_{m+n} \cdots (\alpha_p)_{m+n}}{(1 - \mu - m - n)_{\nu m + \nu n} (\beta_1)_{m+n} \cdots (\beta_q)_{m+n}} \frac{z^{m+n}}{(m + n)!} w^n. \quad (8.11)$$

Applying the identity

$$(1 - \mu - m - n)_{\nu k} = (1 - \mu)_{\nu k} \binom{\mu + m + n - 1}{n} \binom{\mu + m - \nu k + n + 1}{n}^{-1}$$

for  $m, n \in \mathbb{N}_0$  and  $k \in \mathbb{N}$  in [19] into (8.11) and employing (8.9) yield the required result (8.10). □

**Theorem 8.7.** *Let*

$$\begin{aligned} \Phi_m^{(\delta, \nu), \lambda}(z) &= \Phi_m^{(\delta, \nu)} \left[ \begin{matrix} (\alpha_1)^\lambda, \delta, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] \\ &= {}_{p+\nu}F_q \left[ \begin{matrix} (\alpha_1)^\lambda, \Delta(\nu; \delta + m), \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] \end{aligned} \quad (8.12)$$



for  $\nu \in \mathbb{N}$  and  $\delta \in \mathbb{C}$ , where

$$\Delta(\nu; \delta) = \frac{\delta}{\nu} \frac{\delta + 1}{\nu} \cdots \frac{\delta + \nu - 1}{\nu}.$$

Then

$$\sum_{n=0}^{\infty} \binom{\delta + m + n - 1}{n} \Phi_{m+n}^{(\delta, \nu), \lambda}(z) w^n = \frac{1}{(1-w)^{\delta+m}} \Phi_m^{(\delta, \nu), \lambda}\left(\frac{z}{(1-w)^\nu}\right) \quad (8.13)$$

for  $m \in \mathbb{N}_0$ ,  $\delta \in \mathbb{C}$ ,  $\nu \in \mathbb{N}$ , and  $|w| < 1$ .

**Proof.** The left side of the equality (8.13) can be rewritten as

$$\sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \binom{\delta + m + n - 1}{n} \frac{(\alpha_1)_{m+n}^\lambda (1 - \delta + m + n)_{\nu m + \nu n} \cdots (\alpha_p)_{m+n}}{(\beta_1)_{m+n} \cdots (\beta_q)_{m+n}} \frac{z^{m+n}}{(m+n)!} w^n. \quad (8.14)$$

Applying the identity

$$(1 - \delta + m + n)_{bk} = (1 - \delta)_{\nu k} \binom{\delta + m + n - 1}{n}^{-1} \binom{\delta + m + \nu k + n + 1}{n}$$

for  $k, n \in \mathbb{N}_0$  and  $k \in \mathbb{N}$  in [19] to the equation (8.14) and utilizing (8.12) yield the required result (8.13).  $\square$

## 9. Concluding remarks

In our present paper, we first demonstrated the degenerate Pochhammer symbol by considering the degenerate gamma function. Then by means of newly defined a Pochhammer symbol, we demonstrated a degenerate hypergeometric function. Moreover, we introduced a degenerate Sumudu transform by using the degenerate exponential function. Also, we presented integral transforms, fractional calculus operators and generating function for the degenerate hypergeometric function. We make an observation limiting  $\lambda \rightarrow 0^+$ , then the result derived in this paper will be reduced to the classical Pochhammer symbol, hypergeometric function and Sumudu transform. Using the (2.1) relation, a new degenerate-special functions can be obtained.

**Acknowledgment.** The authors would like to thank Prof. Dr. Feng Qi for their help and positive criticism in this study.

## References

- [1] M. Abramowitz and I.A. Stegun (Eds), *Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables*, National Bureau of Standards, Applied Mathematics Series 55, 10th printing, Dover Publications, New York and Washington, 1972.
- [2] J. Choi and P. Agarwal, *Certain class of generating functions for the incomplete hypergeometric functions*, Abstr. Appl. Anal. **2014**, 5 pages, 2014.
- [3] J. Choi and P. Agarwal, *Certain integral transforms for the incomplete functions*, Appl. Math. Inf. Sci. **9** (4), 2161–2167, 2015.
- [4] L. Debnath and D. Bhatta, *Integral Transforms and Their Applications*, Third edition, Chapman and Hall (CRC Press), Taylor and Francis Group, London and New York, 2014.
- [5] A.K. Golmankhaneh and C. Tunç, *Sumudu transform in fractal calculus*, Appl. Math. Comput. **350**, 386–401, 2019.
- [6] R. Hilfer (ed.), *Applications of Fractional Calculus in Physics*, World Scientific Publishing Co., River Edge, NJ, 2000.

- [7] A.A. Kilbas, H.M. Srivastava and J.J. Trujillo, *Theory and Applications of Fractional Differential Equations*, North-Holland Mathematics Studies **204**, Elsevier Science B.V., Amsterdam, 2006.
- [8] T. Kim and D.S. Kim, *Degenerate Laplace transform and degenerate gamma function*, Russ. J. Math. Phys. **24** (2), 241–248, 2017.
- [9] A.M. Mathai, R.K. Saxena and H.J. Haubold, *The H-function, Theory and Applications*, Springer, New York, 2010.
- [10] F. Qi and B.-N. Guo, *Relations among Bell polynomials, central factorial numbers, and central Bell polynomials*, Math. Sci. Appl. E-Notes **7** (2), 191–194, 2019.
- [11] F. Qi, D.-W. Niu, D. Lim and B.-N. Guo, *Closed formulas and identities for the Bell polynomials and falling factorials*, Contrib. Discrete Math. **14** (2), 1–11, 2019.
- [12] F. Qi, D.-W. Niu, D. Lim and Y.-H. Yao, *Special values of the Bell polynomials of the second kind for some sequences and functions*, J. Math. Anal. Appl. **491** (2), 124382, 2020.
- [13] F. Qi, X.-T. Shi and F.-F. Liu, *Several identities involving the falling and rising factorials and the Cauchy, Lah, and Stirling numbers*, Acta Univ. Sapientiae Math. **8** (2), 282–297, 2016.
- [14] F. Qi, G.-S. Wu and B.-N. Guo, *An alternative proof of a closed formula for central factorial numbers of the second kind*, Turkish J. Anal. Number Theory, **7** (2), 56–58, 2019.
- [15] E.D. Rainville, *Special Functions*, The Macmillan Co., New York, 1960.
- [16] M. Safdar, G. Rahman, Z. Ullah, A. Ghaffar and K.S. Nisar, *A New Extension of the Pochhammer Symbol and Its Application to Hypergeometric Functions*, Int. J. Appl. Comput. Math. **5** (6), 151, 2019.
- [17] H.M. Srivastava, P. Agarwal and S. Jain, *Generating functions for the generalized Gauss hypergeometric functions*, Appl. Math. Comput. **247**, 348–352, 2014.
- [18] H.M. Srivastava, A. Çetinkaya and İ.O. Kıymaz, *A certain generalized Pochhammer symbol and its applications to hypergeometric functions*, Appl. Math. Comput. **226**, 484–491, 2014.
- [19] H.M. Srivastava and H.L. Manocha, *A Treatise on Generating Functions*, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto 1984.
- [20] H.M. Srivastava, G. Rahman and K.S. Nisar, *Some Extensions of the Pochhammer Symbol and the Associated Hypergeometric Functions*, Iran. J. Sci. Technol. Trans. A Sci. **43** (5), 2601–2606, 2019.
- [21] H.M. Srivastava and R.K. Saxena, *Operators of fractional integration and their applications*, Appl. Math. Comput. **118** (1), 1–52, 2001.
- [22] R. Şahin and O. Yağcı, *A New Generalization of Pochhammer Symbol and Its Applications*, Appl. Math. Nonlinear Sci. **5** (1), 255–266, 2020.
- [23] R. Şahin and O. Yağcı, *Fractional Calculus of the Extended Hypergeometric Function*, Appl. Math. Nonlinear Sci. **5** (1), 369–384, 2020.
- [24] G.K. Watugala, *Sumudu transform: a new integral transform to solve differential equations and control engineering problems*, Internat. J. Math. Ed. Sci. Tech. **24** (1), 35–43, 1993.
- [25] G.K. Watugala, *Sumudu transform—a new integral transform to solve differential equations and control engineering problems*, Math. Eng. Ind. **6** (4), 319–329, 1998.
- [26] G.K. Watugala, *The Sumudu transform for functions of two variables*, Math. Eng. Ind. **8** (4), 293–302, 2002.